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                                                                                                 Ak Link-Ebene
	Thema und Aufgabentyp 
	Thema: Fähigkeiten von Behinderten (hier: Blindheit) 

Zuordnungsaufgabe mit vorgegebenen Lösungsteilen (matching exercise) 



	Bezug zum Lehrwerk
	GL 3 NEW BY, Unit 4 ‚Helpless’ (SS. 60/61)
Ausgewählte Lernschwerpunkt in dieser Unit: 

Gezielte Informationsentnahme aus Text- und Bildmaterial; eine Abenteuergeschichte lesen und verstehen 

 

	Vorbereitung im vorausgehenden Unterricht
	In vorausgehenden Units werden folgende relevanten Fähigkeiten geübt: 

Unit 1: Eine Geschichte … lesen und verstehen 

Unit 2: Eine Sage … lesen und verstehen 

Unit 3: einem Hörtext Detailinformationen entnehmen; einen Text lesen und verstehen, die korrekte Reihenfolge der Ereignisse ermitteln 



	Bewertung der Aufgabe
	Bewertung nach Zahl richtiger Einzellösungen 

Parts I &II reading comprehension: insgesamt 12 BE
· 1 BE Abzug für falsche Zuordnung 


	Variationsmöglichkeiten
	Variante 1: Die Zahl der korrekten Zuordnungen wird nicht angegeben. 

Variante 2: Die Zahl der korrekten Zuordnungen wird zur Erleichterung  offen gelegt.



Reading Comprehension 


  Part I: lines 1 to 29 

Decide for each phrase in the second column, if there is a correct combination with a phrase in the fourth column:
e.g.: 1 ( a ); and  2 ( - ); this would mean, phrase 1 can be combined with phrase ( a ), but 2 cannot be combined with any phrase in the fourth column (a) to (d)
One phrase in the fourth column might be twinned with two phrases in the second column!

A.
	1. 
	Moscow is
	a.
	“the other end” of the flight. (l. 9)

	2. 
	London is 
	b.
	the stop-over airport for Susie. 

	3.
	New York is 
	c.
	Susie’s place of departure. 

	4. 
	JFK airport is 
	d. 
	not on Susie’s route. 


Put in the correct letter: 

	1   (     ) 
	2   (     )
	3   (     )
	4   (     )


B.
	1. 
	Susie’s father 
	a.
	tried to put Susie’s cellphone into her bag. 

	2. 
	Susie’s mother 
	b.
	led her from the plane to the airport building. 

	3.
	A stranger 
	c. 
	stole Susie’s cellphone from her bag. 

	4. 
	An air hostess  
	d. 
	wanted to take a package from Susie’s bag. 


Put in the correct letter: 

	1   (     ) 
	2   (     )
	3   (     )
	4   (     )



Part II: lines 30 to 75 

C. 
	1. 
	Susie’s father 
	a.
	had to go to work after they had arrived home.

	2. 
	Susie’s mother 
	b.
	stayed at home and was very tired. 

	3.
	Susie  
	c. 
	thought that her father drove too slowly.

	4. 
	A small package 
	d. 
	was in Susie’s suitcase.


Put in the correct letter: 

	1   (     ) 
	2   (     )
	3   (     )
	4   (     )


Lösung: 

A.
	1c; 2d; 3a; 4a  


B.
	1-; 2-; 3d; 4b 


C.
	1a; 2a; 3b; 4-  
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